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LOGICAL REASONING

1.	 If L denotes ÷, M denotes ×, P denotes + and Q 
denotes –, then which of the following options 
is correct?

(A)	 32 P 8 L 16 Q 4 = – 3
2

(B)	 6 M 18 Q 26 L 13 P 7 = 173
13

(C)	 11 M 34 L 17 Q 8 L 3 = 383
(D)	 9 P 9 L 9 Q 9 M 9 = – 71

2.	 Which of the following options satisfy the same 
conditions of placement of the dots as in Fig. (X)?

Fig. (X)Fig. (X)

(A)	 	 (B)	
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(C)	 	 (D)	

3.	 Find the missing number, if the same rule is 
followed in all the three figures.

2 1 4

2 5 2

693

2 3 3

3 2 2

374

4 6 7

1 1 2

?

(A)	 937	
(B)	 824
(C)	 769	
(D)	 606

4.	 Complete the given pattern. 
6, 11, 21, 36, 56, (  ?  )

(A)	 42	
(B)	 51
(C)	 81	
(D)	 91
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MATHEMATICAL REASONING

5.	 What values of a and b make quadrilateral 
MNOP a parallelogram?

21N O

13

P4 +a bM

3 –2a b

(A)	 a = 1, b = 5	 (B)	 a = 5, b = 1

(C)	 a = 117 , b = 
34
7 	 (D)	 a = 

34
7 , b = 117

6.	 For the quadrilateral shown here, what is  
the value of ∠a + ∠c?
(A)	 53°
(B)	 137°
(C)	 180°
(D)	 233°

7.	 Simplify : 16 2 4 2
16 2 2 2
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× − ×
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n n

n n

(A)	 1	 (B)	 6/11
(C)	 0	 (D)	 1/2
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ACHIEVERS SECTION

14.	 Select the correct match.

	 Let f(x) = x x
x

−( ) −( )2 4

(A)	 f(x) is a	 -	 As (x – 2), (x – 4), 
	 polynomial		  x are polynomials

(B)	 f(x) is an	 -	 As it can be written 
	 equation		  as ax2 + bx + c

(C)	 f(x) is a	 -	 As it is of the form 
p
q ,

	 rational number		  q ≠ 0

(D)	 f(x) is not a	 -	 As the exponents of x 
	 polynomial		  are not whole numbers.

15.	 The marks scored by some students for a 
question in the Science test are shown in the 
table given below.

Marks 0 1 2 3 4 5
Number of students 3 2 3 5 x 1

(a)	 If the mode is 4, then write down the 
smallest possible value of x.

(b)	 If the mean is 2 1
4

, then find the value of x.

		  (a)	 (b)
(A)		  6	 2
(B)		  5	 2
(C)		  6	 4
(D)		  6	 3

11.	 A right circular cone has radius 5 cm and height 8 
cm. What is the lateral surface area of the cone?
(A)	 40p sq. cm	
(B)	 445p sq. cm
(C)	 5p 39  sq. cm	
(D)	 5p 89  sq. cm

12.	 Vikas has ` (x3 +  2ax  +  b ) ,  w i th  th is 
money he can buy exactly (x – 1) jeans or  
(x + 1) shirts with no money left. How much 
money Vikas has, if x = 4?

EVERYDAY MATHEMATICS

(A)	 ` 80	 (B)	 ` 120
(C)	 ` 30	 (D)	 ` 60

13.	 Find the area of the given trapezium.
70 cm

30 cm

20 cm 20 cm

(A)	 2900 cm2	 (B)	 3000 cm2

(C)	 2100 cm2	 (D)	 2700 cm2

8.	 Find the remainder when p(y) = y3 + y2 + 2y + 3 is 
divided by y + 2.
(A)	 1	 (B)	 4
(C)	 –5	 (D)	 3

9.	 The ordinate of any point on x-axis is 
____________.
(A)	 0	 (B)	 1
(C)	 –1	 (D)	 Any number

10.	 What is the value of x ?

(A)	 35°	 (B)	 60°
(C)	 85°	 (D)	 95°
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